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MC setting

. HiFESNd=-Za— MY/ RI0#¥(by EE S A)ZJTIC. events/
7modules/10PPOTHH DEETEZ AL o,

. all horn current = OKA, jnubeamO9c
e 467 x 104 numu events + 1.29 x 104 numubar events
. all horn current = 320kA, jnubeamO7a :

« 3.0 x 104 numu events

e BIHMAICZDEE. 6.7 x 102 numubar events
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‘ active hit & plane
wEHhS R

pInZ  pIn3 pIn4 pIn5 Energy deposit > 333keV (2.5 p.e.)—Hit

hy2
hy 1

. Active Hit =1
. hxl-hyl
. Active Plane = 1
. Mean Edep of active hit = (Ex1+Eyl1)/2

hx1

active plane

. Active Hit =4
. hxl-hyl, hxT-hy2, hx2-hyl, hx2-hy2

« Active Plane =

. Mean Edep of active hit = (ExT+Ey1 +
ExT+Ey2 + Ex2+Ey1 + Ex2+Ey2) /4 / 2
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upstream veto cut
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active plane 2% (w/o horn)

nActPIn
Entries 121000
180003_ ................... — ............. ...................... ] ]
PN R gy e t°ta' ________ o . horizontal & vertical modules
UUURUMU events

14000:_ """"""""""""""""""""" """"""""" numubarewvents
12000;_ ........................................ ....................... — ......................
10000;_ ........................................ ____________________________________________ _______________________ ______________________
8000;— ................... ....................... ______________________ ST S ______________________
6000% | | ? | ?
4000F
2000F 5 ; é ;

) PSP SR S SN B B

0 2 4 6 8 10 12

nActPIn
total active plane > 1 | active plane > 2

numu 95200 75799(79.6%) 61005(64%)

numu bar 25800 18750(72.7%) 15186(58.9%)

nhumu & humubar 121000 94549(78.1%) 76191 (63%)
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active plane %1 (w/ horn)

><1()3 | Entries 720000

nActPIn

120p S R T horizontal & vertical modules
100 || R — —

R

e S e

wooo
e

0 2 4 6 8 10 12

nActPIn

total active plane > 1 | active plane > 2

numu 720000 521183(73.4%) | 39581(54.9%)
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KASABAY K~ (wo/h horn)
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TopView

Entries

X [em]

100
80F
60f -
wf

20}

OF

120 i g o e

0

SideView

60 80 100

Z [cm]

Entries

Y [cm]

1005— -----
80F -
b
s0f
b

OF

1| S AR SRR SRR N

0

“60 80 100

Module : 2

intmode : NC Elastic

WK Ty T IEBEF

Top view

. Edep =438, 9.9, 23.7 [MeV]
Side view

. Edep = 105 [MeV]

Mean Edep of active hit

« (105+4.8 + 105+9.9 +
105+23.7)/3/2 ~ 60 MeV
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horn 7"d: L horizontal
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horn7s U
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hornd D horizontal
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hornd D vertical
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